

ABC Bid Data

CORNISH, NH - WINDSOR, VT 25067

A003(035)

PROJECT: CORNISH, NH - WINDSOR, VT

STATE PROJECT NUMBER: 25067 **FED. PROJECT NUMBER:** A003(035)

DATE BIDS OPEN: October 08, 2020, 2:00

SCOPE OF WORK: Cornish Windsor Covered Bridge Scour Mitigation

COMPLETION DATE: October 29, 2021

LOCATION: Sullivan

Awarded To: RENAUD BROS.

CONSTRUCTION, INC 283 FORT BRIDGEMAN RD

#2

VERNON, VT 05354

Amount: \$993,755.00

Certified by: PETER.E.STAMNAS

Award Date: Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
RENAUD BROS. CONSTRUCTION, INC	\$993,755.00	Α
283 FORT BRIDGEMAN RD #2, VERNON VT 05354		
CCS CONSTRUCTORS INC	\$1,131,115.00	В

138 MUNSON AVENUE, PO BOX 1030, MORRISVILLE VT 05661

ABC Bid Data



CORNISH, NH - WINDSOR, VT 25067 A003(035)

					PS&E		RENAUD BROS. CONSTRUCTION, INC 283 FORT BRIDGEMAN RD #2 VERNON, VT 05354		CCS CONSTRUCTORS INC 138 MUNSON AVENUE MORRISVILLE, VT 05661	
1	tem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

207.3	UNCLASSIFIED CHANNEL EXCAVATION	CY	200.00	\$50.00	\$10,000.00	\$75.00	\$15,000.00	\$75.00	\$15,000.00
304.6	CRUSHED STONE (VERY COARSE)	CY	45.00	\$70.00	\$3,150.00	\$100.00	\$4,500.00	\$125.00	\$5,625.00
500.02	ACCESS FOR BRIDGE CONSTRUCTION	U	1.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$175,000.00	\$175,000.00
503.201	COFFERDAMS	U	1.00	\$65,000.00	\$65,000.00	\$125,000.00	\$125,000.00	\$275,000.00	\$275,000.00
503.202	COFFERDAMS	U	1.00	\$65,000.00	\$65,000.00	\$125,000.00	\$125,000.00	\$150,000.00	\$150,000.00
583.0505	PARTIALLY GROUTED RIP RAP, 12 INCH	CY	285.00	\$225.00	\$64,125.00	\$300.00	\$85,500.00	\$200.00	\$57,000.00
583.5	RIPRAP, CLASS V	CY	290.00	\$60.00	\$17,400.00	\$175.00	\$50,750.00	\$175.00	\$50,750.00
583.9	RIPRAP, CLASS IX	CY	200.00	\$75.00	\$15,000.00	\$175.00	\$35,000.00	\$150.00	\$30,000.00
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	50.00	\$12.50	\$625.00	\$25.00	\$1,250.00	\$50.00	\$2,500.00
606.014	6"X8" WOOD POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	12.00	\$100.00	\$1,200.00	\$50.00	\$600.00	\$350.00	\$4,200.00
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	12.00	\$25.00	\$300.00	\$50.00	\$600.00	\$350.00	\$4,200.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	130.00	\$42.50	\$5,525.00	\$50.00	\$6,500.00	\$45.00	\$5,850.00
606.91	RESETTING OR SETTING GUARDRAIL	LF	130.00	\$12.00	\$1,560.00	\$20.00	\$2,600.00	\$35.00	\$4,550.00
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	2.00	\$2,275.00	\$4,550.00	\$2,500.00	\$5,000.00	\$5,000.00	\$10,000.00
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$7,920.00	\$7,920.00	\$65,000.00	\$65,000.00	\$20,000.00	\$20,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00
618.7	FLAGGERS	HR	240.00	\$45.00	\$10,800.00	\$30.00	\$7,200.00	\$35.00	\$8,400.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	3.00	\$2,000.00	\$6,000.00	\$1,000.00	\$3,000.00	\$5,000.00	\$15,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	2.00	\$5.50	\$11.00	\$100.00	\$200.00	\$200.00	\$400.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	950.00	\$4.00	\$3,800.00	\$3.00	\$2,850.00	\$2.00	\$1,900.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	72.00	\$10.00	\$720.00	\$10.00	\$720.00	\$15.00	\$1,080.00
632.1304	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 4" LINE	LF	820.00	\$4.00	\$3,280.00	\$2.00	\$1,640.00	\$3.00	\$2,460.00

New Hampshire Department of Transportation

ABC Bid Data

CORNISH, NH - WINDSOR, VT 25067 A003(035)

				PS&E		283 FORT BE	CONSTRUCTION, INC RIDGEMAN RD #2 IN, VT 05354	CCS CONSTRUCTORS INC 138 MUNSON AVENUE MORRISVILLE, VT 05661	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.1306	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 6" LINE	LF	30.00	\$5.00	\$150.00	\$4.00	\$120.00	\$5.00	\$150.00
645.0001	TURBIDITY BARRIER	LF	665.00	\$40.00	\$26,600.00	\$25.00	\$16,625.00	\$70.00	\$46,550.00
645.3	EROSION STONE	TON	150.00	\$25.00	\$3,750.00	\$50.00	\$7,500.00	\$100.00	\$15,000.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	500.00	\$5.25	\$2,625.00	\$10.00	\$5,000.00	\$5.00	\$2,500.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	240.00	\$150.00	\$36,000.00	\$40.00	\$9,600.00	\$25.00	\$6,000.00
650.2	LANDSCAPING	U	1.00	\$12,000.00	\$12,000.00	\$25,000.00	\$25,000.00	\$6,000.00	\$6,000.00
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$1,837.50	\$3,675.00	\$1,000.00	\$2,000.00	\$3,000.00	\$6,000.00
692.	MOBILIZATION	U	1.00	\$70,000.00	\$70,000.00	\$150,000.00	\$150,000.00	\$175,000.00	\$175,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
			Totals:		\$706,766.00		\$993,755.00		\$1,131,115.00
			Alt. Totals:						
			Totals:		\$706,766.00		\$993,755.00	\$1,131,115.00	



PS&E Comparison

CORNISH, NH - WINDSOR, VT 25067 A003(035)

				A-Bide	der	PS8	λЕ		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference	
Items									
207.3	UNCLASSIFIED CHANNEL EXCAVATION	CY	200.00	\$75.00	\$15,000.00	\$50.00	\$10,000.00	\$5,000.00	
304.6	CRUSHED STONE (VERY COARSE)	CY	45.00	\$100.00	\$4,500.00	\$70.00	\$3,150.00	\$1,350.00	
500.02	ACCESS FOR BRIDGE CONSTRUCTION	U	1.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	
503.201	COFFERDAMS	U	1.00	\$125,000.00	\$125,000.00	\$65,000.00	\$65,000.00	\$60,000.00	
503.202	COFFERDAMS	U	1.00	\$125,000.00	\$125,000.00	\$65,000.00	\$65,000.00	\$60,000.00	
583.0505	PARTIALLY GROUTED RIP RAP, 12 INCH	CY	285.00	\$300.00	\$85,500.00	\$225.00	\$64,125.00	\$21,375.00	
583.5	RIPRAP, CLASS V	CY	290.00	\$175.00	\$50,750.00	\$60.00	\$17,400.00	\$33,350.00	
583.9	RIPRAP, CLASS IX	CY	200.00	\$175.00	\$35,000.00	\$75.00	\$15,000.00	\$20,000.00	
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	50.00	\$25.00	\$1,250.00	\$12.50	\$625.00	\$625.00	
606.014	6"X8" WOOD POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	12.00	\$50.00	\$600.00	\$100.00	\$1,200.00	(\$600.00)	
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	12.00	\$50.00	\$600.00	\$25.00	\$300.00	\$300.00	
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	130.00	\$50.00	\$6,500.00	\$42.50	\$5,525.00	\$975.00	
606.91	RESETTING OR SETTING GUARDRAIL	LF	130.00	\$20.00	\$2,600.00	\$12.00	\$1,560.00	\$1,040.00	
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	2.00	\$2,500.00	\$5,000.00	\$2,275.00	\$4,550.00	\$450.00	

Nen Hampshire PS8

Department of Transportation

PS&E Comparison

CORNISH, NH - WINDSOR, VT 25067 A003(035)

				A-Bide	der	PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$65,000.00	\$65,000.00	\$7,920.00	\$7,920.00	\$57,080.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$0.00
618.7	FLAGGERS	HR	240.00	\$30.00	\$7,200.00	\$45.00	\$10,800.00	(\$3,600.00)
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00	(\$30,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	3.00	\$1,000.00	\$3,000.00	\$2,000.00	\$6,000.00	(\$3,000.00)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	2.00	\$100.00	\$200.00	\$5.50	\$11.00	\$189.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE		950.00	\$3.00	\$2,850.00	\$4.00	\$3,800.00	(\$950.00)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	72.00	\$10.00	\$720.00	\$10.00	\$720.00	\$0.00
632.1304	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 4" LINE	LF	820.00	\$2.00	\$1,640.00	\$4.00	\$3,280.00	(\$1,640.00)
632.1306	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 6" LINE	LF	30.00	\$4.00	\$120.00	\$5.00	\$150.00	(\$30.00)
645.0001	TURBIDITY BARRIER	LF	665.00	\$25.00	\$16,625.00	\$40.00	\$26,600.00	(\$9,975.00)
645.3	EROSION STONE	TON	150.00	\$50.00	\$7,500.00	\$25.00	\$3,750.00	\$3,750.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	500.00	\$10.00	\$5,000.00	\$5.25	\$2,625.00	\$2,375.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00	\$4,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	240.00	\$40.00	\$9,600.00	\$150.00	\$36,000.00	(\$26,400.00)
650.2	LANDSCAPING	U	1.00	\$25,000.00	\$25,000.00	\$12,000.00	\$12,000.00	\$13,000.00

Tuesday, October 27, 2020 Page 5 of 6



PS&E Comparison

CORNISH, NH - WINDSOR, VT 25067 A003(035)

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$1,000.00	\$2,000.00	\$1,837.50	\$3,675.00	(\$1,675.00)
692.	MOBILIZATION	U	1.00	\$150,000.00	\$150,000.00	\$70,000.00	\$70,000.00	\$80,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00

Total: \$993,755.00 \$706,766.00 \$286,989.00

Tuesday, October 27, 2020 Page 6 of 6